AP Calc HW Sols

31.
33.
34.
39.
36.
il
38.
39.
40.

8T

n?/2 or 1.571x

n/8 or 0.393x

n/2 * (e*-1) or 3.195x
15.604w or 49.022
0.627w or 1.970
1.0297 or 3.233
4.906m or 15.411
0.952r or 2.991

Questions?



Washer Method Practice
Find the volume of the solid generated by rotation the first

quadrant region bound by y=3%¥x and y=x/4 about
the y-axis.
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Baby question: Write an expression for the length of the red bar
y Q/‘HQ = 9- %x+6’>

f(x)=1/3x+5




Baby question: Write an expression for the length of the red bar

bov”

fﬂU}
i .f%




What if the axis of revolution is NOT the x or y axis??




What if the axis of revolution is NOT the x or y axis??

Same Rules apply:

s u}\\ﬂ < Q.E'\\AS

b
\/ = T ‘f (outer fhugtian)’ - (inner fupssien)® dx
[+ ¥]

Jﬁ?; ***outer and inner are RELATIVE to the revolving axis™* %



What if the axis of revolution is NOT the x or y axis??
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Very impiﬁtant: draw representative rectangles
perpendicular and adjacent to the axis of revolutionx§
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Determine the volume of the solid

: : . i T
obtained by rotating the region bounded

by and about the line . j = l// b\/)ﬁ
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Lo
Region:
¥ =lx-2
Y el
oloout 3’2’&
Use a calc. i y 3.

and find the intersection points

(446,1.9¢1)
(-1.agt o .\% )
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Let's spin around y=-2

=198/ 0448 -
-—— _
J2

0.44754216 0.44754216

- f :r(2+\/x+2)ldr- I ﬂ(2+€’")2dx=]9.7240r19.725.

=-1.980874 -1.980974



Axis to the left of the region 9‘.},3
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